

## GOVERNMENT OF INDIA DEPARTMENT OF PUBLICATION CIVIL LINES, DELHI – 110 054.

No. 761/O&M/2013

Dated 14-16 Nov., 2014

## **OFFICE ORDER**

## Subject: Revision of Sale price of Gazette of India and Delhi Gazette.

The competent authority has decided that the existing rates of Gazette of India and Delhi Gazette are revised for three consecutive years i.e. 2014-15, 2015-16 and 2016-17 with immediate effect as

## (In Rupees)

• GOI (Weekly)	Existing Rate (per copy)	Revised Rate (per copy) 2014-15	<u>Revised Rate</u> (per copy) 2015-16	Revised Rate (per copy) 2016-17
Pt. I Sec. 1	90/-	135/-	180/-	220/-
Pt. I Sec. 2	75/-	110/-	150/-	190/-
Pt. I Sec. 3	40/-	60/-	80/-	100/-
Pt. I Sec. 4	200/-	300/-	400/-	500/-
Pt. II Sec. 3 Sub (i)	175/-	260/-	350/-	430/-
Pt.II Sec.3 Sub (ii)	250/-	380/-	500/-	620/-
Pt.II Sec.3 Sub (iii)	100/-	150/-	200/-	250/-
Pt. II Sec. 4	60/-	90/-	120/-	150/-
Pt. III Sec. 1	225/-	340/-	450/-	560/-
Pt. III Sec. 2	125/-	190/-	250/-	310/-
Pt. III Sec. 3	35/-	50/-	70/-	90/-
Pt. III Sec. 4	150/-	225/-	300/-	370/-
Pt. IV	35/-	50	70/-	90/-

<u>GOI (Extraordinary)</u>	Existing Rate (per copy)	Revised Rate (per copy) 2014-15	Revised Rate (per copy) 2015-16	Revised Rate (per copy) 2016-17
Pt. I Sec. 1	35/-	50/-	70/-	90/-
Pt. I Sec. 2	35/-	50/-	70/-	90/-
Pt. I Sec. 3	35/-	50/-	70/-	90/-
Pt. I Sec. 4	175/-	260/-	350/-	430/-
Pt. II Sec. 1	35/-	50/-	70/-	90/-
Pt. II Sec. 1(A)Hindi	90/-	135/-	180/-	220/-
Pt. II Sec. 2	40/-	60/-	80/-	100/-
Pt. II Sec. 3 Sub (i)	35/-	50/-	70/-	90/-
II Sec. 3 Sub (ii)	35/-	50/-	70/-	90/-
Pt. II Sec. 3 Sub(iii)	35/-	50/-	70/-	90/-
Pt. II Sec. 4	35/-	50/-	70/-	90/-
Pt. III Sec. 2	35/-	50/-	70/-	90/-
Pt. III Sec. 3	35/-	50/-	70/-	90/-
Pt. III Sec. 4	35/-	50/-	70/-	90/-

DELHI GAZETTE (Weekly) (Rates not revised in 2004)

Weekly	Existing Rate (per copy)	Revised Rate (per copy) 2014-15	Revised Rate (per copy) 2015-16	Revised Rate (per copy) 2016-17
Pt. I	8/-	20/-	30/-	40/-
Pt. II Sec 1	8/-	20/-	30/-	40/-
Pt. II Sec 2	8/-	20/-	30/-	40/-
Pt. III	8/-	20/-	30/-	40/-
Pt. IV	40/-	80/-	120/-	200/-
Pt. V (2)	28/-	60/-	100/-	140/-
Pt. VI	45/-	90/-	150/-	220/-

<u>Extra-</u> ordinary	<u>Existing Rate</u> (per copy)	<u>Revised Rate</u> (per copy) 2014-15	Revised Rate (per copy) 2015-16	Revised Rate (per <u>copy)</u> 2016-17
Pt. I	5/-	10/-	20/-	
Pt. I Sec 1	10/-	20/-	40/-	50/-
Pt. II (2)	5/-	10/-	20/-	30/-
Pt. III	10/-	20/-	40/-	50/-
Pt. IV	12/-	20/-	40/-	60/~
Pt. V (2)	170/-	260/-	350/-	420/-
Pt. VI	7/-	20/-	30/-	40/-

DELHI GAZETTE (Extra-ordinary) (Rates not revised in 2004)

2. The revised rates of **Annual Subscription** of all parts of **Gazette of India** (Weekly and Extra-ordinary) for the year **2014-15** will accordingly be as under:-

Name of Part, Sec. & Sub-	Revised rate per copy	Revised Annual Subscription
Section (Weekly & Exty.)	(Weekly & Exty.)	(Rate per copy x 52 issues)
Part l Sec. (i)	135+50= 185	$185 \ge 52 = 9620.00$
Part I Sec. (ii)	110+50= 160	$160 \ge 52 = 8320.00$
Part   Sec. (iii)	60 + 50= 110	110 x 52 =5720.00
Part I Sec. (iv)	300+260= 560	560 x 52 =29120.00
Part II Sec. (i)	50 (Exty. only)	50 x 52 =2600.00
Part Il Sec. (i) (A) (Hindi)	135 (Exty. Only)	135 x 52 ==7020.00
Part II Sec. (ii)	60 (Exty. Only)	60 x 52 =3120.00
Part II Sec. (3) Sub Sec. (i)	260+50= 310	310 x 52 =16120.00
Part II Sec.(3) Sub Sec. (ii)	380+50= 430	430 x 52 =22360.00
Part II Sec. (3) Sub Sec. (iii)	150+50= 200	200 x 52 =10400.00
Part Il Sec. (iv)	90+50= 140	140 x 52 =7280.00
Part III Sec. (i)	340 (Weekly only)	340 x 52 =17680.00
Part III Sec. (ii)	190 + 50 = 240	$240 \ge 52 = 12480.00$
Part III Sec. (iii)	50 + 50 = 100	100 x 52 =5200.00
Part III Sec. (iv)	225+50=275	275 x 52 =14300.00
Part IV	50 (Weekly only)	50 x 52 = 2600.00

3. The revised rates of **Annual Subscription** of all parts of **Gazette of India** (Weekly and Extra-ordinary) for the year **2015-16** will accordingly be as under:-

Name of Part, Sec. & Sub-	Revised rate per copy	Revised Annual Subscription
Section (Weekly & Exty.)	(Weekly & Exty.)	(Rate per copy x 52 issues)
Part I Sec. (i)	180 + 70 = 250	250 x 52 =13000.00
Part I Sec. (ii)	150 + 70 = 220	220 x 52 =11440.00
	80 + 70 = 150	150 x 52 =7800.00
Part I Sec. (iii)	400 + 350 = 750	750 x 52 =39000.00
Part I Sec. (iv)	70 (Exty. Only)	70 x 52 =3640.00
Part II Sec. (i)	180 (Exty. Only)	180 x 52 =9360.00
Part II Sec. (i) (A) (Hindi)		80 x 52 =4160.00
Part II Sec. (ii)	80(Exty. Only)	420 x 52 =21840.00
Part II Sec. (3) Sub Sec. (i)	350 + 70 = 420	570 x 52 =29640.00
Part II Sec.(3) Sub Sec. (ii)	500 + 70 = 570	$\frac{370 \times 32^{-230} \times 1000}{270 \times 52 = 14040.00}$
Part II Sec. (3) Sub Sec. (iii)	200 + 70 = 270	
Part II Sec. (iv)	120 + 70 = 190	190 x 52 =9880.00
Part III Sec. (i)	450 (Weekly only)	450 x 52 =23400.00
Part III Sec. (ii)	250 + 70 = 320	$320 \times 52 = 16640.00$
Part III Sec. (iii)	70 + 70 = 140	140 x 52 =7280.00
Part III Sec. (iv)	300 + 70 = 370	370 x 52 =19240.00
	70 (Weekly only)	70 x 52 =3640.00
Part IV		

•

,

4. The revised rates of **Annual Subscription** of all parts of **Gazette of India** (Weekly and Extra-ordinary) for the year **2016-17** will accordingly be as under:-

Name of Part, Sec. & Sub-	Revised rate per copy	Revised Annual Subscription
Section (Weekly & Exty.)	(Weekly & Exty.)	(Rate per copy x 52 issues)
Part I Sec. (i)	220+90=310	310 x 52 =16120.00
Part I Sec. (ii)	190 + 90 = 280	280 x 52 =14560.00
Part I Sec. (iii)	100 + 90 = 190	190 x 52 =9880.00
Part I Sec. (iv)	500 + 430 = 930	930 x 52 =48360.00
Part II Sec. (i)	90 (Exty. Only)	90 x 52 =4680.00
Part II Sec. (i) (A) (Hindi)	220 (Exty. Only)	220 x 52 =11440.00
Part II Sec. (ii)	100 (Exty. Only)	100 x 52 =5200.00
Part II Sec. (3) Sub Sec. (i)	430 + 90 = 520	520 x 52 =27040.00
Part II Sec.(3) Sub Sec. (ii)	620 + 90 = 710	710 x 52 =36920.00
Part II Sec. (3) Sub Sec. (iii)	250 + 90 = 340	340 x 52 =17680.00
Part II Sec. (iv)	150 + 90 = 240	240 x 52 =12480.00
Part III Sec. (i)	560 (Weekly only)	560 x 52 =29120.00
Part III Sec.(ii)	310 + 90 = 400	400 x 52 = 20800.00
Part III Sec. (iii)	90 + 90 = 180	180 x 52 =9360.00
Part III Sec. (iv)	370 + 90 = 460	460 x 52 =23920.00
Part IV	90 (Weekly only)	90 x 52 = 4680.00

6

Revised rate per copy (Weekly &	Revised Annual Subscription
Exty.)	(Rate per copy x 52 issues)
20 + 10 = 30	30 x 52 = 1560
20 (Exty. Only)	$20 \ge 52 = 1040$
20 (Weekly only)	20 x 52 = 1040
20 + 10 = 30	30 x 52 = 1560
20 + 20 = 40	40 x 52 = 2080
80 + 20= 100	100 x 52 = 5200
60 + 260 = 320	$320 \times 52 = 16640$
90 + 20 = 110	$110 \ge 52 = 5720$
	Exty.) 20 + 10 = 30 $20 (Exty. Only)$ $20 (Weekly only)$ $20 + 10 = 30$ $20 + 20 = 40$ $80 + 20 = 100$ $60 + 260 = 320$

5. The revised rates of **Annual Subscription** of all parts of **Delhi Gazette** (Weekly and Extra-ordinary) for the year **2014-15** will accordingly be as under:-

٩.1

•

.

6. The revised rates of **Annual Subscription** of all parts of **Delhi Gazette** (Weekly and Extra-ordinary) for the year **2015-16** will accordingly be as under:-

Name of Part, Sec. & Sub-ection	Revised rate per copy	Revised Annual Subscription
(Weekly & Exty.)	(Weekly & Exty.)	(Rate per copy x 52 issues)
Part I	30 + 20 = 50	50 x 52 = 2600
Part 1 Sec. 1	40 (Exty. Only)	40 x 52 = 2080
Part II Sec. I	30 (Weekly only)	30 x 52 = 1560
Part II Sec. (2)	30 + 20 = 50	50 x 52 = 2600
Part III	30 + 40 = 70	70 x 52 = 3640
Part IV	120 + 40 = 160	160 x 52 = 8320
Part V (2)	100 + 350 = 450	450 x 52 = 23400
Part V1	150 + 30 = 180	180 x 52 = 9360

7. The revised rates of **Annual Subscription** of all parts of **Delhi Gazette** (Weekly and Extra-ordinary) for the year **2016-17** will accordingly be as under:-

Name of Part, Sec. & Sub-	Revised rate per copy (Weekly	Revised Annual	
Section (Weekly & Exty.)	& Exty.)	Subscription(Rate per copy x	
		52 issues)	
Part I	40 + 30 = 70	70 x 52 = 3640	
Part I Sec. I	50 (Exty. Only)	50 x 52 = 2600	
Part II Sec. I	40 (Weekly only)	$40 \ge 52 = 2080$	
Part II Sec. (2)	40 + 30 = 70	70 x 52 = 3640	
Part III	40 + 50 = 90	90 x 52 = 4680	
Part IV	200 + 60 = 260	260 x 52 = 13520	
Part V (2)	140 + 420 = 560	560 x 52 = 29120	
Part VI	220 + 40 = 260	260 x 52 = 13520	

22

(Dinesh Chandra) Asstt. Controller (Admn.)

То

- 1. P.A. to J.S.& C.P.
- 2. P.A. to F.O.
- 3. P.A. to A.C.(Business)
- 4. Gazette Section
- 5. e-Gazette section for uploading in the website of this Department.
- 6. All Sale Counters/Sale Depots
- 7. Notice Board
- 8. Guard File
- 9. Hindi Section for Hindi version.

Copy to:-

The Director (PSP), Ministry of Urban Development, Nirman Bhawan, New Delhi.